
logଷ 9 =

logଶ 4 =

logଶ 8 = 3

logଷ 27 =

logଶ 16 =

logଶ 32 =logଶ 64 =

logଶ 1024 =

logଶ௔ 4𝑎ଶ =

Evaluate. Think of what power must you raise the base to in order to equal the "thing you are logging".

Evaluate

logଶ௫ 8𝑥ଷ =

logସ 16 = logଵ 49 = logଵ଴ 100 =

log 1000 =

logଷ 3ଶ =

Evaluate. Think of what power must you raise the base to in order to equal the "thing you are logging".

logଶ 2ସ = logସ 4ଷ = logହ 5௫ =

logହ 5଻଼ =

logଷ 27 =

Change the base of the "thing you are logging" to be the same as the base of the log, and evaluate as above.

logହ 0 = log଴ 3 = log଻ 1 =

log௘ 𝑒ଶ = 𝑙𝑛 𝑒ଶ =

logହ 125 = log଺ 36 = 

log଼ 512 =
logହ √5

⎯⎯య
=logଶ 16 =

logଷ 3
ଵ
ଶ
⎯⎯=

log଺

1

6
⎯⎯=

logଵ
ସ
⎯⎯

1

16
⎯⎯⎯=

𝑙𝑜𝑔0.1 =𝑙𝑜𝑔√10
⎯⎯⎯ 

= 𝑙𝑜𝑔1 =

Evaluate

Use your calculator to evaluate.

log 7 = log 0.05 = 𝑙𝑜𝑔80 = 𝑙𝑜𝑔0 =

log(−2) =

logସ 2 =

logଵ
ଶ
⎯⎯

8 =

log௔ 𝑎ଶ = log௫ 𝑥ହ =

log௔ 𝑎 = log௕ 𝑏௫ =log௫ 1 =

− logଶ 16 =

logଶ ቆ
1

4
⎯⎯ቇ =

logଵ଴଴ 10 000 =

logଶ 4 =
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Express in exponential form

logଶ ቆ
1

2
⎯⎯ቇ = −1

logଵ଴ 1000 = 3 

𝑞 = log௫ 𝑧

log௔ 𝑏 = 𝑐

log଺ 1 = 0

log଺ସ 16 =
2

3
⎯⎯

Express in logarithmic form

4ିଶ =
1

16
⎯⎯⎯

1

125
⎯⎯⎯ = 5ିଷ

logଶ 8 = 3 logହ 25 = 2 logଷ 27 = 3

logସ 2 =
1

2
⎯⎯

logଵ
ଷ
⎯⎯

9 = −2logଵ
ସ
⎯⎯

ቆ
1

16
⎯⎯⎯ቇ = 2 log଻(𝑥 + 2) = 𝑦 log 100 = 2

logସ 1 = 0 1 = logହ 5

2ଷ = 8 5ଶ = 25 64 = 8ଶ

8
ଵ
ଷ
⎯⎯= 2

2଺ = 64 10ିଶ = 0.01 𝑎 = 𝑏௖

6ିଶ =
1

36
⎯⎯⎯

1000 = 10ଷ
𝑥௬ = 𝑧

logଶ 4 + 2 = 4

ቆ
1

5
⎯⎯ቇ

ଶ

=
1

25
⎯⎯⎯

4ଵ = 418଴ = 1

C12 - 8.1 - ௕ in Exp/Log Form HW
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Find x

logଶ(𝑥) = 3 logସ 𝑥 = 3 logହ 𝑥 = 2 logସ 𝑥 =
1

2
⎯⎯

logହ 𝑥 = 0 logହ 𝑥 = −2

log௫(144) = 2

log௫(64) = 3

log௫(81) = 2

logଷ(5𝑥 + 7) = 2

logଶ(𝑥 + 2) = 2 logଷ(𝑥 − 5) = 2 logଵ଴(𝑥 − 50) = 2 logହ(20 + 𝑥) = 2

logଷ(44 − 𝑥) = 4logହ(𝑥ଶ + 50) = 3

log√ଶ
⎯⎯  𝑥 = 4

log௫ 5 = 3

log௫ √27
⎯⎯⎯ 

=
3

2
⎯⎯

log௫ 5 = 1

logଷ 𝑥 = −2

logହ 2𝑥 = −5

log௫ 125 = 3

log௫ 8 =
2

3
⎯⎯

log௫

1

16
⎯⎯⎯= 4

log௫(8) = 3

log௫ 27 =
3

2
⎯⎯log௫ 9 =

1

2
⎯⎯

log௫ 4 =
2

3
⎯⎯ log௫

27

8
⎯⎯⎯=

3

2
⎯⎯ log௫

64

27
⎯⎯⎯=

3

2
⎯⎯

C12 - 8.1 - log௕ 𝑥 = 𝑐, log௫ 𝑎 = 𝑐 𝐻𝑊
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logଶ(8) = 𝑥logସ(16) = 𝑥

log଻(343) = 𝑥

Solve

log଼ 16 = 𝑥

logଵ
ଶ
⎯⎯

16 = 𝑥

logସ

1

8
⎯⎯= 𝑥 logଵ

ହ
⎯⎯

125 = 𝑥

logଵ
ଶ
⎯⎯

1 = 𝑥

logଵ
ଷ
⎯⎯

1

9
⎯⎯= 𝑥 logଵ

ଽ
⎯⎯

1

3
⎯⎯= 𝑥

log଼ଵ 3 = 𝑥

logଵ଴ 100 = 𝑥

logଵ଺ 8 = 𝑥

logଶ 64 = 𝑥

log√ଶ
⎯⎯  4 = 𝑥

logଶ √8
⎯⎯ర

= 𝑥

𝑙𝑜𝑔௫ାଶ 1 = 2logଶ௫ 16 = 2 𝑙𝑜𝑔௫ାଵ 9 = 2 𝑙𝑜𝑔௫ିଵ 4 = 2

log௫ାଶ 9 = 2

C12 - 8.1 - log௕ 𝑎 = 𝑥 𝑎𝑛𝑑 𝐹𝑎𝑐𝑡𝑜𝑟𝑖𝑛𝑔 𝐻𝑊

   Log Page 4    


